You're so sweet!

Part A: Writing and Balancing Chemical Equations

Directions: Write and balance the following chemical equations. State what type of equation it
is; synthesis, decomposition, combustion, single displacement or double displacement.

1. Sodium phosphate and calcium chloride yield calcium phosphate and sodium chloride
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2. Aluminum and hydrochloric acid yield aluminum chloride and hydrogen gas
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3. Zinc carbonate is heated to produce zinc oxide and carbon dioxide.
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1. Magnesium bromide and chlorine -
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2. Aluminum and iron (IIT) oxide
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3. Silver nitrate and zinc chloride

:DOu ble V




8. Potassium sulfate and magnesium fluoride
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9. Zinc nitrate and barium hydroxide
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10. I um hydromde and barium chloride
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Part D: Empirical and Molecular Formulas

Directions: Determine the empirical formula and molecular formula for the following
compounds.

1. The analysis of a compound shows that it is 50.1% S and 49.9% O. Find the embirical
formula.
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Empirical Formula:

2. If the molar mass of the compound is 192 g/mol, find the molecular formula.
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Molecular Formula:
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e balanced chemical equation for this reaction.

I 100 grams of each reactant are available to react, which would be the limiting ctant?
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D. If 50 grams of sodium phosphate were actually produced, what is the percent yield?
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c. Is there a limiting reactant in this reaction? Why or why not?
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d. If 123 grams of ammonia react, how many grams of each product should theoretically be

produced?
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e. If 75 grams of nitrogen are actually produced, what is the percent yield?
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- b. Write a balanced equation for the reaction. ELE W) R
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¢. If 180 grams of carbon are available to react with 640 grams of iron (III) oxide, what is the
limiting reactant? Show work!
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d. Using your results from part ¢, how many grams of each product should be theoretically
produced?
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2. Magnesium nitrate and sodium chromate $15
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